A2

She her umbrella before it started raining.
Answer:

They their coats because it was very cold.
Answer:

He the weather forecast before going outside.
Answer:

I my sunglasses because it was sunny.

Answer:

We a raincoat because it was raining.
Answer:

You your hat because it was windy.
Answer:

The ground was wet because it all night.
Answer:

She her jacket because it was snowing.
Answer:

He his gloves because it was freezing.
Answer:

They their umbrellas because it was drizzling.

Answer:




Answers

She her umbrella before it started raining.
Answer: had brought

They their coats because it was very cold.
Answer: had worn

He the weather forecast before going outside.
Answer: had checked

I my sunglasses because it was sunny.
Answer: had forgotten

We a raincoat because it was raining.
Answer: had worn

You your hat because it was windy.
Answer: had worn

The ground was wet because it all night.
Answer: had rained

She her jacket because it was snowing.
Answer: had worn

He his gloves because it was freezing.
Answer: had worn

They their umbrellas because it was drizzling.
Answer: had brought



